


1. Euclid’s Division Lemma states that for any two positive integers a and b, there exists unique
integers g and r such that a=bg + r where r must satisfy :

(A) 0<r<b (B) 0<r<b
(C) 0<r<b D) O0<r<b

ferre faurem W & STqER fRel off 9 s qui a iR b & o T wfada oo ged g
R ¢ foemM € fha=bq+r &l r, TTE FATE :

(A) 0<r<b (B) 0<r<b

(© 0<r=<b (D) O0=r<b

The graph of y=p (x) given below.
The number of zeroes of p(x) is :

(A) 0 B) 2 ©) 4 (D) 3
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(A) 0 (B) 2 C) 4 (D) 3

3. Infigure below if DE || BC then x equals:
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(A) 6cm (B) 7 cm © 3 cm (D) 4cm

If A is an acute angle in a right AABC, right angled at B, then the value of sinA + cosA is :

(A) equal to one (B) greater than one
© less than one (D)  equalto two
AABC B fS9a&1 B GHHI0 € T £ A =7 I & T sinA + cosA T TH BT :
(A) 1% IR (B) 19 el
© 198 (D) 2% SR

If sec A = cosec B = %, then A + Bisequal to:
(A) zero (B) 90° © <90 (D) >90°

T sec A = cosec B=g 2 a1 A+ BRI HH 8 :

(A) =A (B) 90° © <90° (D) >90°
ﬂ is equal to
1 cot?A q c .
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(A) tan?A (B) sec?A (©) cosA (D) sinA

2
1+ A
tan %:

1 cot?A
(A) tan?A  (B) sec?A (C) cosA (D) sinA
7. 154787
The decimal expansion of the rational number will terminate after
(A) one decimal place (B) two decimal places
(C) three decimal places (D) four decimal places
s A7 o s i 2 -
1250
(A) Th WA T & 1] (B) I XWEE WM & A%
(C) o SIS T % 91G (D) =R TIFS T & 915G

8.  The pair of linear equations (3 k+1) x + 3 y—5=0and 2x —3y + 5= 0 have infinite solutions.
Then the value of k is :

A 1 B) 0 © 2 D) -1

Iger TR % IH 3 k+1) x + 3y—5=0 3R 2x—3y+5=0 % TIRHT T § F TA S| T,
KHIAA T :

A 1 B) 0 © 2 D) -1

In AABC, if ZA+ /ZB=90°, cot B= 2 , then the value of tan A is :

4 3 4 3
(A) s (B) 1 ©) 3 (D) =
AABCH /A + /B=90°, cot B= %,?ﬁ tan A 1 | BN

4 3 4 3
(A) s (B) 1 ©) 3 (D) =

10. ' The median of a frequency distribution is found graphically with the help of

A) Ogive B Histogram
S 23
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11.

12.

13.

14.

59 7% ) GerErar 4 Tord) sReRdl s &1 112 9d R A a8 8 -

(A) TR (i) (B) I fam
(C) SRERAT SigYsl (D)  SRERd &k
Section-B

Question numbers 11 to 18 carry two marks each.
Find the LCM and HCF of 120 and 144 by using fundamental theorem of Arithmetic.

120 3R 144 1 LCM 3R HCF SiehT0rd i STERYA T8F g1 T hifoT |

Divide 6x3 + 13x2 + x — 2 by 2x + 1, and find quotient and remainder.

6x3+13x2 + x — 2 1 2x+ 1 T TaTSa HLehr IRTHE 9T ATH JTd HifeT |

Solve the following system of linear equations by substitution method :
2x—y=2

x+3y=15

frfafed e wefitor fem =1 gfaeam fafy @ ga wifg
2x—y=2

x+3y=15

Find the value of tan 60° geometrically.

AT ®9 9 tan 60° &1 {1 J1d hifsTT |

OR / 31w

Prove that \/ sec 1+\/ sec 1 2 cosecO.
sec 1 sec 1
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15.

16.

17.

fag =0 \/sec iﬂ/sec 1 =2 coseco.

sec secO —1

In given figure DE|AC, DF||AE. If the lengths of BF and FE in centimeters are 4 and 5
respectively, then find the length of EC.

A

B F E C

<t 7 eThfa H DEJ|AC 99 DF||AE ® | afS BF 91 FE i fe2di (cm H) A: 4 9915 8 ol EC
SEEEISEISE

A

In a trapezium ABCD, AB is parallel to CD and AB=2CD. If area of AAOB =84 cm?, find the
area of ACOD.

DYC

O

A B

T=gys ABCD ® AB 3R CD ¥0=R € @1 AB=2CD ¥ 3afg &. AAOB=84 W.Hi2 &,
&l. ACOD T ShifST |

D C
{ EOE S
A B

The following distribution gives the daily income of 55 workers of a factory. Write this
distribution as less than type cumulative frequency distribution :
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Daily income 100—-120 120140 140-160 160—180 180—200
(inRs.)

No. of 13 15 9 7 11
workers
11 57 U Tl & 55 FMR T ST o119 T €1 924 Il U ‘W H7 9101’ YHR DI Gedt
IRERAT sie4 & €9 § fafay |

1R 3 (%) | 100-120 120 - 140 140 - 160 160 - 180 180 - 200

TR k! TE&AT 13 15 9 7 11

18. The length of 42 leaves of a plant are measured correct upto nearest millimetre and the data is

as under :

Length in 118 —126 126 —134 134 —142 142 — 150 150—-158 158 — 166
mm

Number of 4 5 10 14 4 5
leaves

Find the modal length of a leave.

foreft Te =t 42 UfEl it degar Fieheaw faeft Hiex o adt 7€ qon f sifens W g -

SEIH (mm | 118-126 126 -134 134 —142 142 -150 150 —158 158 — 166
H)

IR 4 5 10 14 4 5
&
gfai st Fgeteh cioTg T ahiTeIg |

Section-C (EUE -T)

Questions numbers 19 to 28 carry three marks each.

19. Show that the square of any positive integer is of the form 3q or 3q + 1 for some integer q :

TuteT R ol emTees quifer 1 af 3q A1 3q + 1 % €9 1 Bl § ST& q FIE U & |
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20.

21.

22,

23.

24.

Prove that 2+/3 — 7 is an irrational.

fag ifs f 243 — 7w iy e §)

OR / 3terat
Prove that </3 + /2 is irrational.

fiag IS ff 3 + 2 T 7ufidg gem v

The sum of the digits of a two digit number is 8. If 36 is added to the number, the digits
interchange their places. Find the number.

1 iRl T T T & ekl I AN 8 T AR W& H 36 Sl 99 A1 eh T 98 od & |
&A1 0T I |

OR / 31gat
The students of a class are made to stand in rows. If three students are extra in each row, there
would be 1 row less. If 3 students are less in a row, there would be 2 rows more. Find the
number of students in the class.

Teh el & faenfefat =t vfaaal # et @ & fau et a1 afe yde dfea | 3 foamneff sifver w@ wmd
1 dferat ot ot HEAT 1 HH & S ¥ 1 Afe Wk dfed o 3 fomnef ww e fau S o 2 Wt sifuen
ot & 1 wen B famnfea s e a wifs

If o, B are the zeroes of the polynomial x? —3x + 2, then find the polynomial whose zeroes are 3«

and 3.

afg qa TGS 12— 3x+2 F YIH ¢ 1 98 IgUS A HITT FHh I 30 T3P T |

Prove that SinA 1+ cosA 2 cosecA.

CcosA SinA

inA 1 + cosA
fag sifse f : St 2 cosecA.
1 cosA sSinA

If sin (A—B)= — and cos (A +B)= %, 0°<(A +B)=<90°, A>B. Find A and B.

1
2

< sin (A —B) = % ql cos (A+B)=%,0°<(A+B) <90°, A>B,dl A dYIB % AM 1A HifSC |
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25. In figure, if % bE and ZCDE = ZCED. Prove that ACAB is an isosceles triangle.

O
@)
trd
o

3Tfa H, % % a9 /CDE = ~/CED %! fag %ifsw f6 ACAB & gufgarg fy= €1

.
@
trs
o

26. In the figure given below, AD 1 BC. Prove that AB2+CD?= BD?+ AC?:

3

B
=1 smRfa § AD L BC ¥ fag wifSw foF AB2+ CD?= BD2+ AC2 &1

o
J
>
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27.

28.

29.

Find the median of the following data.

Classes 500 - 600 600 - 700 700 - 800 800 - 900 900 - 1000
Frequency 40 28 35 22 25
1 eAfonel o1 ATearsh A1 IS |
Eul 500 - 600 600 - 700 700 - 800 800 - 900 900 - 1000
EECIEG]] 40 28 35 22 25
OR / 31erar

The daily expenditure of 100 families are given below. Calculate f; and f,, if the mean daily

expenditure is Rs. 188.

Expenditure

140 - 160

160 - 150

180 - 200

200 - 220

220 - 240

No. of families

5

25

f1

f2

5

100 9RERT a1 Sfek Tt = foa T €1 £, 7o £, A 9 S afs e o 188 T A |

140 - 160

160 - 1580

180- 200

200 - 220

220 - 240

TERT T JI=AT

5

25

f1

f2

5

Find the mean of the following data by step deviation method and hence find the mode,
given that median of the data is 42.5.

Classes

10-20

20-30

30-40

40-50

S0-60

&0-710 S0-50

Frequency

4 5

10 12

10

4 2

frefafaa s o1 w-fauem fafy o1 T w3 A1 9 FIST) Tq: Sy 91 it

e sfiehel i WA 42.5 T |

-

Questions numbers 29 to 34 carry four marks each.

=1 10-20 | 20-30 | 30-40 | 40-50 | s0-80 | &0-7F0 | F0-80
A AT AT 4 B 10 12 10 4 2
Section-D

Find all the zeroes of the polynomial 2x3 4+ x2—6x—3, if two of its zeroes are \/3 and /3.
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30.

31.

32.

33.

TEUG 223 + x2— 6x —3 o A JEF T HIC IS 3Heh &I IEH /3 a0 /3 B

Prove that the ratio of areas of two similar triangles is equal to the ratio of squares on the
corresponding side.

fag SIS for < goEy Byt & &well i ST SRl HTd YoeTl & STIUId & =7 o SR il
=

OR / 31eral
Prove that in a right triangle, the square of the hypotenuse is equal to the sum of the squares of
the other two sides.

fag wifere o we waehror s & ol 1 ol 919 <1 il o i < 41 o SeR g § |

Prove that cos80 — sin®0 = (cos20 — sin20) (1 — 2sin20cos20) :

g SIS TR cos860 — sind0 = (cos20 — sin26) (1 — 2sin6cos26) :

OR / 312w

Find the value of C9S 20 cos 70° _ 8 sin2 30°

sin 70 sin 20

HH 9 hITST C?S 20 + CF)S 0 8 sin? 30°
sin 70 sin 20

If (secH + tan@) =p, prove that sinf =

2_
afg (secB + tan) =p, a1 fag HIST foh sinf = p2 1
p

Solve graphically the following system of equations :

x+2y=>5,2x—3y= —4. Also find the points where the lines meet the x axis.

% R 1 gHieon sl g & ¢
x+2y=5,2x—3y=—47dA

I oft 1 BT T A T x-31e1 W e foigedl w fierd €
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34. Change the given distribution to more than type distribution and draw its ogive.

Classes 20-25 | 25-30 30-35| 35-40 | 40-45 | 45-50

Frequency 3 6 12 9 6 4

feu g deq w1 ww ' 2ifyes ol Siea H Seaet S9hT AR Sy ¢

Eui 20-25 | 25-30 30-35| 35-40 | 40-45 | 45-50

IRARAT 3 6 12 9 6 4
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